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o UHEH T2 qof @ ojgt  1~102f # 0|2t 10~1009f # O|Bt | 1002 ¥ OJ4 g
2RI 821 49,022 532,583 5,654,426 6,236,852
HlC|eAIY 116 1,531 33666 228,110 268,423
S SHRIAY 6,985 45829 178,682 192,071 423,567
ot PCAHIRY 51 9588 - - 9,639
oBloI=AIY 755 7,153 41,652 24,062 73,622
A 8728 113,123 791,583 6,098,669 7,012,103
HIZ(%) 0.1 1.6 11.3 87.0 1000
HHE AL 2 523,757 1,192,568 - - 1,716,325
ol oo TR} HIQUE 222 47,552 28760 - - 76,312
A 571,309 1,221,328 - - 1,792,637
HIZ(%) 319 68.1 - = 1000
2%l 580,037 1,334,451 791,583 6,098,669 8,804,740
HIZ(%) 6.6 15.1 90 69.3 1000
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o Of=HO| 100 @ Of&Ql AKXl OjEAd2 T™ALCHH| 27.0% 7t AEHT 23.0%
S7tet A2 LIEIL & F2o| T7t82 E¢
<H 2> AL o= fod A Of=Eo it
(EHQ): ot 2l
o= OHEM T2 qof @4 mjpt 1~109 ® Oj2t | 10~1002 ¥ OBk | 1002} ¥ OJAt =]
2009 635,329 1,373,271 543,279 4028721 6,580,600
20104 577,680 1,366,430 684,913 4,802,095 7,431,118
20114 580,037 1,334,451 791,583 6,098,669 8,804,740
HACHH S ZE(%) 04 v23 156 270 185
HAHASZIE(%) V45 via 20.7 230 157
X BN 2SNSTTR, STRUATSY, 12012 ZUX MYEH , 2013
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